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   1.  Add 
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     3.  Divide using long division. 
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D. none of the above

 4.  Divide using synthetic division. 
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        5. Write the absolute value equation that corresponds to the graph shown:  
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  6.  Which of the following is the solution to 
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   7. Which of the following inequalities would have the graph    

        shown at the right ?

          A. 
[image: image26.wmf]2

6

yxx

>-+-



B.  
[image: image27.wmf]2

6

yxx

<-++


          C. 
[image: image28.wmf]2

6

yxx

³-++



D.  
[image: image29.wmf]2

6

yxx

£-+-


 8. If g(x) = - f(x), then the graph of g(x) would be which of the following transformations to f(x) ?

    A.  a reflection over the y-axis





B. a vertical compression 

    C.  a reflection over the x-axis 





D. None of these 

 9.  If  
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 were moved up 5 and right 4 which of the following would be the equation 

           of the new function ?

          A. 
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  10. Suppose the value of the discriminant for a quadratic function equaled 8. Which of the following 

        statements would be true ?

A.  The equation would have two non-real complex solutions.

B.  The equation would have one real solution. 

C. The equation would have only one non-real complex solution.

D. The equation would have two real solutions. 

  11. Determine which of the follow points, if any, is a solution to the system of equations given below.  
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       A. ( - 4, 6 ) 


B. ( 8, - 3 )


C. ( - 4, 1 )

D. None of these

12.  Describe the parent function and its transformation:   
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A.  square root function, shift left 4, down 8


B.  square root function, shift right 4, down 8


C.  square root function, shift right 4, up 8


D.  rational function, shift right 4, up 8

  13. Which method would be the best choice for solving the system given ?
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        A. substitution 


B. elimination


C. regression

D. None of these
14. Describe the parent function and its transformation:   
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A.  exponential function, shift left 1, down 5


B.  square root function, shift right 1, down 5


C.  quadratic function, shift right 1, up 5


D.  exponential function, shift right 1, up 5

    15. Write the simplest polynomial function with zeros of 
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16. Solve using any method. 
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       A.  ( 10 , 2 )               B. Infinite number of solution          
C. ( 8, 0 )
         D. No solution 
17.  Which of the graphs shown below is the solution to the given system of inequalities?  
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           A.                                                                   B.
[image: image146.png]


[image: image147.png]



       C.  






D.  
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18.   Graph 
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, then estimate the local maximum, minimum, and zero.

A.   max = -4,  min = -2, zero = 3.

 

B.  max =.18,  min = -4.09, zero = 2.89


C.   max = -1.91, min = -4.09, zero = 2.89       

D.  max = -1.91, min = 1.82, zero = -2

 19.  Identify the equation of the polynomial function with zeros 2 and 3i.
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20.  Let 
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21.    Identify the equation of the polynomial function with this graph.  
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22. Identify whether the function graphed has an odd or even degree, a positive or negative leading coefficient, 


and determine the end behavior.
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                    A.    odd, positive 
      

    B.  even, positive
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                    C.    even, negative      
   

    D.    odd, negative 
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23.  Which of the following factoring formulas is NOT true?
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24.   Factor the polynomial:  [image: image67.wmf]2
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25. Classify the graph of the polynomial function below by its degree, leading coefficient, and end behavior.

A. [image: image152.png]
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B. Odd Degree, positive leading coefficient,  
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26. Give the vertex of the following:   
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  27.   Write a quadratic function in standard form with zeros 6 and 
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   28.   Use factoring to find the roots of 
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D. none of these

    29.     The parent function 
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 is reflected across the x-axis, vertically stretched by a factor of 8,   translated right 6, and down 2 units to create g (x) .  Use the description to write the quadratic function in vertex form.
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         30. Write the function 
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      31.  Solve the equation 
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32.  Give the complex conjugate of 
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33.  Find the zeros of 
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       34.  Find the value of the discriminant for 
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       A. 113    
      
            B. 7



C. 0
            

D. 49  

35.  Subtract.  Write the result in the form 
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36. Multiply 
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38.  Determine if (0, 2) is an element of the solution set for the system of equations:    [image: image135.wmf]36
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A. (0, 2) is a solution of the system.


B. (0, 2) is not a solution of the system.

C. There is not enough information to determine the answer

D. The solution is All Real Numbers

39.  A rocket is launched vertically from a platform 4 feet off of the ground with an initial velocity of 118 feet per second.  W rite an equation that models the height of the rocket off of the ground at any time t.

A.  
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      40.  Find the product. 
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